

ΕΥΟΤΥΤΑ 15

6. $x+2 \leq f(x) \leq x^2+x+2$

(a) Nδo $f(0)=2$

Για $x=0$ $\in x \cup$

$$0+2 \leq f(0) \leq 0^2+0+2$$

$$2 \leq f(0) \leq 2$$

$$\Rightarrow \underline{\underline{f(0)=2}}$$

(b) Nδo $f'(0)=1$

$$f'(0) = \lim_{x \rightarrow 0} \frac{f(x) - f(0)}{x - 0} = \lim_{x \rightarrow 0} \frac{f(x) - 2}{x}$$

$$x+2 \leq f(x) \leq x^2+x+2$$

$$x+2-2 \leq f(x)-2 \leq x^2+x+2-2$$

$$x \leq f(x)-2 \leq x^2+x$$

For $x > 0$

$$\frac{x}{x} \leq \frac{f(x)-2}{x} \leq \frac{x^2+x}{x}$$

$$1 \leq \frac{f(x)-2}{x} \leq x+1$$

$$\lim_{x \rightarrow 0^+} 1 = 1$$

} Ans K.O

$$\lim_{x \rightarrow 0^+} x+1 = 1$$

$$\lim_{x \rightarrow 0^+} \frac{f(x)-2}{x} = 1$$

For $x < 0$

$$1 \geq \frac{f(x)-2}{x} \geq x+1$$

$$\text{opara } \lim_{x \rightarrow 0^-} \frac{f(x)-2}{x} = 1$$

$$\lim_{x \rightarrow 0} \frac{f(x)-2}{x} = 1 \quad \Rightarrow \quad \underline{\underline{f'(0)=1}}$$

7.

$$2\eta p x \leq f(x) \leq x^2 + \eta p^2 x$$

$\forall x \in \mathbb{R}$ та $\forall p \in \mathbb{R}$ та $\forall x \geq 0$

$$y - f(0) = f'(0)(x - 0)$$

$\forall x \geq 0$

$$0 \leq f(0) \leq 0$$

$$\Rightarrow \underline{\underline{f(0) = 0}}$$

$$f'(0) = \lim_{x \rightarrow 0} \frac{f(x) - f(0)}{x - 0} = \lim_{x \rightarrow 0} \frac{f(x) - 0}{x - 0} = \lim_{x \rightarrow 0} \frac{f(x)}{x}$$

$\forall x \geq 0$

$$2\eta p x \leq \frac{f(x)}{x} \leq x + \frac{\eta p^2 x}{x}$$

$$\lim_{x \rightarrow 0^+} 2\eta p x = 0$$

$$\lim_{x \rightarrow 0^+} x + \frac{\eta p^2 x}{x} = \lim_{x \rightarrow 0^+} x + \frac{\eta p x}{x} \cdot \eta p x = 0 + 1 \cdot 0 = 0$$

$$\text{Ans k. } \lim_{x \rightarrow 0^+} \frac{f(x)}{x} = 0$$

Sum $x < 0$

$$2nr x \geq \frac{f(x)}{x} \approx x + \frac{nr^2 x}{x}$$

$$\lim_{x \rightarrow 0^-} 2nr x = 0$$

$$\lim_{x \rightarrow 0^-} x + \frac{nr^2 x}{x} = 0$$

Ans K, N

$$\lim_{x \rightarrow 0^-} \frac{f(x)}{x} = 0$$

$$\text{App } \lim_{x \rightarrow 0} \frac{f(x)}{x} = 0 \Rightarrow f'(0) = 0.$$

$$\varepsilon \circ y - 0 = 0 \cdot (x - 0)$$

$$y = 0 \quad x'x$$

Θεωρία

$$\lim_{h \rightarrow 0} \frac{f(x_0 + h) - f(x_0)}{h} = \lim_{x \rightarrow x_0} \frac{f(x) - f(x_0)}{x - x_0} = f'(x_0)$$

$$\bullet \lim_{h \rightarrow 0} \frac{f(x_0 + h) - f(x_0)}{h} \xrightarrow[h \rightarrow 0]{x_0 + h = x} \lim_{x \rightarrow x_0} \frac{f(x) - f(x_0)}{x - x_0} \quad \checkmark$$

$$f'(3) = \lim_{x \rightarrow 3} \frac{f(x) - f(3)}{x - 3} = \lim_{h \rightarrow 0} \frac{f(3+h) - f(3)}{h}$$

$$f'(-1) = \lim_{x \rightarrow -1} \frac{f(x) - f(-1)}{x + 1} = \lim_{h \rightarrow 0} \frac{f(-1+h) - f(-1)}{h}$$

Για να είναι η f παραγωγισίμη

στο x_0 πρέπει $\lim_{x \rightarrow x_0} \frac{f(x) - f(x_0)}{x - x_0}$ να

υπάρχει και να είναι αριθμός.

$$\lim_{x \rightarrow x_0} \frac{f(x) - f(x_0)}{x - x_0} \quad \begin{array}{l} x = 5 + k \\ x \rightarrow x_0 \\ k \rightarrow x_0 - 5 \end{array} \quad \lim_{k \rightarrow x_0 - 5} \frac{f(5+k) - f(x_0)}{5+k-x_0}$$

$$\lim_{x \rightarrow x_0} \frac{f(x) - f(x_0)}{x - x_0} \quad \begin{array}{l} x = x_0 + h \\ x \rightarrow x_0 \\ h \rightarrow 0 \end{array} \quad \lim_{h \rightarrow 0} \frac{f(x_0+h) - f(x_0)}{h}$$

9. $f(2+h) = 1 + 2h + 3h^2 \quad \forall h \in \mathbb{R}$.

(a) NDO $f(2) = 1$

$$\begin{aligned} &\underline{h=0} \\ &f(2+0) = 1 + 2 \cdot 0 + 3 \cdot 0^2 \end{aligned}$$

$$\underline{\underline{f(2) = 1}}$$

(b) NDO $f'(2) = 2$

$$f'(2) = \lim_{x \rightarrow 2} \frac{f(x) - f(2)}{x - 2} = \lim_{h \rightarrow 0} \frac{f(2+h) - f(2)}{h} =$$

$$= \lim_{h \rightarrow 0} \frac{1 + 2h + 3h^2 - 1}{h} = \lim_{h \rightarrow 0} \frac{2h + 3h^2}{h}$$

$$= \lim_{h \rightarrow 0} 2 + 3h = 2$$

$$\underline{\underline{f'(2) = 2}}$$

$$\lim_{x \rightarrow x_0} \frac{f(x) - f(x_0)}{x - x_0} = \lim_{h \rightarrow 0} \frac{f(x_0 + h) - f(x_0)}{h}$$

15.

Η συνάρτηση $\varepsilon \sigma y = 2x$ εφαπτεται
την $(\varepsilon \sigma \omega M(1, f(1)))$.

$$f'(1) = 2$$

$$f(1) = 2 \cdot 1$$

$$f(1) = 2$$

(a) $\lim_{x \rightarrow 1} \frac{f(x) - 2x^2}{x^2 - x}$

Η πληροφορία $f'(1) = 2$ γάρια
ορίο.

$$f'(1) = \lim_{x \rightarrow 1} \frac{f(x) - f(1)}{x - 1} = 2$$

$$\lim_{x \rightarrow 1} \frac{f(x) - 2}{x - 1} = 2$$

Θαμεν βοηθάμε $g(x) = \frac{f(x) - 2}{x - 1}$

$$f(x) = g(x)(x - 1) + 2$$

$$\lim_{x \rightarrow 1} \frac{g(x)(x - 1) + 2 - 2x^2}{x^2 - x} = \lim_{x \rightarrow 1} \frac{g(x)(x - 1)}{x(x - 1)} - 2 \frac{x^2 - 1}{x(x - 1)}$$

$$= \int_{x+1} \frac{g(x)}{x} - 2 \frac{\cancel{(x-1)}(x+1)}{x \cancel{(x-1)}}$$

$$= \int_{x+1} \frac{g(x)}{x} - 2 \frac{x+1}{x}$$

$$= \frac{2}{1} - 2 \frac{2}{1} = \underline{\underline{-2}}$$

$$(B) \int_{x+1} \frac{xH(x)-2}{x^2-1} = \int_{x+1} \frac{x(g(x)(x-1)+2)-2}{x^2-1}$$

$$= \int_{x+1} \frac{xg(x)(x-1)}{x^2-1} + \frac{2x-2}{x^2-1} =$$

$$= \int_{x+1} \frac{xg(x)\cancel{(x-1)}}{\cancel{(x-1)}(x+1)} + \frac{2\cancel{(x-1)}}{\cancel{(x-1)}(x+1)} = \frac{1 \cdot 2}{2} + \frac{2}{2}$$

(2)

18. Η τ παρα/μη στο α

$$f'(a) = \lim_{x \rightarrow a} \frac{f(x) - f(a)}{x - a}.$$

© Nso $\lim_{x \rightarrow a} \frac{x f(x) - a f(a)}{x - a} = f(a) + a f'(a).$

$$\lim_{x \rightarrow a} \frac{x f(x) - a f(a)}{x - a} = \lim_{x \rightarrow a} \frac{x f(x) - x f(a) + x f(a) - a f(a)}{x - a}$$

$$\lim_{x \rightarrow a} \frac{x(f(x) - f(a))}{x - a} + \frac{(x - a) f(a)}{x - a}$$

$$= a \cdot f'(a) + f(a) \quad \checkmark$$

$$\textcircled{B} \text{ NSO } \lim_{x \rightarrow a} \frac{af(x) - xf(a)}{x^2 - ax} = f'(a) - \frac{f(a)}{a}$$

$$\lim_{x \rightarrow a} \frac{af(x) - xf(a)}{x^2 - ax} = \lim_{x \rightarrow a} \frac{af(x) - af(a) + af(a) - xf(a)}{x^2 - ax}$$

$$= \lim_{x \rightarrow a} \frac{a(f(x) - f(a))}{x(x-a)} - \frac{f(a)(x-a)}{x(x-a)}$$

$$= f'(a) - \frac{f(a)}{a} \quad \checkmark$$

19.

$$f(2) = 0$$

$$f'(2) = -2$$

$$\lim_{x \rightarrow 1} \frac{f(3x-1)}{x-1} \quad \begin{array}{l} 3x-1=t \\ 3x=t+1 \\ x=\frac{t+1}{3} \\ x \rightarrow 1 \\ t \rightarrow 2 \end{array} \quad \lim_{t \rightarrow 2} \frac{f(t)}{\frac{t+1}{3}-1} =$$

$$= \lim_{t \rightarrow 2} \frac{3f(t)}{t+1-3} = \lim_{t \rightarrow 2} \frac{3f(t)}{t-2} =$$

$$= 3 \lim_{x \rightarrow 2} \frac{f(x)}{x-2} =$$

$$= 3 \lim_{x \rightarrow 2} \frac{f(x) - 0}{x-2} =$$

$$= 3 \lim_{x \rightarrow 2} \frac{f(x) - f(2)}{x-2} = 3 \cdot f'(2)$$

$$= 3 \cdot (-2) = -6$$

20.

H f nap/nu seo 2!

$$\lim_{x \rightarrow 2} \frac{f(x) - f(2)}{x - 2} = l \in \mathbb{R}.$$

$$\lim_{h \rightarrow 0} \frac{f(2+h) - f(2)}{h} = l.$$

② NĐO $\lim_{h \rightarrow 0} \frac{f(2+3h) - f(2)}{h} = 3 f'(2)$

$$\lim_{h \rightarrow 0} \frac{f(2+3h) - f(2)}{h} \quad \begin{array}{l} 2+3h = x \\ h \rightarrow 0 \\ x \rightarrow 2 \\ 3h = x - 2 \\ h = \frac{x-2}{3} \end{array} \quad \lim_{x \rightarrow 2} \frac{f(x) - f(2)}{\frac{x-2}{3}}$$

$$= \lim_{x \rightarrow 2} \frac{3(f(x) - f(2))}{x - 2} = 3 f'(2) \quad \checkmark$$

$$\textcircled{B} \lim_{h \rightarrow 0} \frac{f(2+h) - f(2-h)}{h} = 2f'(2)$$

$$\bullet \lim_{h \rightarrow 0} \frac{f(2+h) - f(2) + f(2) - f(2-h)}{h} =$$

$$= \lim_{h \rightarrow 0} \frac{f(2+h) - f(2)}{h} - \frac{f(2-h) - f(2)}{h} \quad \textcircled{*}$$

$$\rightarrow \lim_{h \rightarrow 0} \frac{f(2+h) - f(2)}{h} \quad \begin{array}{l} 2+h=x \\ h=x-2 \\ h \rightarrow 0 \\ x \rightarrow 2 \end{array} \quad \lim_{x \rightarrow 2} \frac{f(x) - f(2)}{x-2} = f'(2)$$

$$\rightarrow \lim_{h \rightarrow 0} \frac{f(2-h) - f(2)}{h} \quad \begin{array}{l} 2-h=x \\ h=2-x \\ h \rightarrow 0 \\ x \rightarrow 2 \end{array} \quad \lim_{x \rightarrow 2} \frac{f(x) - f(2)}{x-2} = -f'(2)$$

$$\underline{\underline{*}} \quad f'(2) - (-f'(2))$$

$$= 2f'(2)$$

$$\textcircled{1} \lim_{h \rightarrow +\infty} \frac{h^3 + h}{h^2 + 1} \cdot \left(f\left(2 + \frac{1}{h}\right) - f(2) \right) = f'(2)$$

$$\begin{aligned} 2 + \frac{1}{h} &= x \Rightarrow \frac{1}{h} = x - 2 \\ h &= \frac{1}{x - 2} \\ h &\rightarrow +\infty \\ x &\rightarrow 2 \end{aligned}$$

$$\frac{h(h^3 + 1)}{h^2 + 1}$$

$$\lim_{x \rightarrow 2} \frac{1}{x - 2} \cdot (f(x) - f(2)) =$$

$$= \lim_{x \rightarrow 2} \frac{f(x) - f(2)}{x - 2} = f'(2)$$

24. H + owerd was 1.

$$\lim_{x \rightarrow 1} \frac{f(x) - 2}{x - 1} = 3.$$

① Bp1 so $f(1) = 2$.

$$g(x) = \frac{f(x) - 2}{x - 1}$$

$$\Rightarrow f(x) = g(x)(x - 1) + 2$$

$$\lim_{x \rightarrow 1} f(x) = \lim_{x \rightarrow 1} g(x)(x - 1) + 2.$$

$$f(1) = 2$$

② Wdo $f'(1) = 3$

$$f'(1) = \lim_{x \rightarrow 1} \frac{f(x) - f(1)}{x - 1} = \lim_{x \rightarrow 1} \frac{f(x) - 2}{x - 1} = 3$$

$$\underline{f'(1) = 3}$$

$$25. \quad \lim_{x \rightarrow 0} \frac{f(x) + 24x}{x} = 5$$

Also $f(0) = 0$ and $f'(0) = 3$.

$$g(x) = \frac{f(x) + 24x}{x}$$

$$\lim_{x \rightarrow 0} g(x) = 5$$

$$f(x) = x g(x) - 24x$$

$$\lim_{x \rightarrow 0} f(x) = \lim_{x \rightarrow 0} x g(x) - 24x$$

$$\lim_{x \rightarrow 0} f(x) = 0$$

$$f(0) = 0$$

$$f'(0) = \lim_{x \rightarrow 0} \frac{f(x) - f(0)}{x - 0} = \lim_{x \rightarrow 0} \frac{f(x)}{x}$$

$$= \lim_{x \rightarrow 0} \frac{x g(x) - 24x}{x} = \lim_{x \rightarrow 0} \frac{x g(x)}{x} - \frac{24x}{x} = 5 - 2 = 3.$$

26.

$$(a) \lim_{x \rightarrow +\infty} x f\left(\frac{2x+1}{x}\right) = 3.$$

$$\frac{2x+1}{x} = u.$$

$$\Rightarrow 2x+1 = xu$$

$$2x - xu = -1$$

$$x(2-u) = -1$$

$$x = -\frac{1}{2-u}$$

$$x \rightarrow +\infty$$

$$\lim_{x \rightarrow +\infty} \frac{2x+1}{x} = \lim_{x \rightarrow +\infty} \frac{2x}{x} = 2.$$

$$u \rightarrow 2$$

$$\lim_{u \rightarrow 2} \frac{f(u)}{u-2} = 3$$

$$\lim_{x \rightarrow 2} \frac{f(x)}{x-2} = 3.$$

$$\lim_{x \rightarrow 2} \frac{f(x)}{x-2} = 3$$

$$g(x) = \frac{f(x)}{x-2}$$

$$g(x)(x-2) = f(x)$$

$$\lim_{x \rightarrow 2} f(x) = \lim_{x \rightarrow 2} g(x)(x-2) = 0$$

$$\underline{\underline{f(2) = 0}}$$

$$f'(2) = \lim_{x \rightarrow 2} \frac{f(x) - f(2)}{x-2} = \lim_{x \rightarrow 2} \frac{f(x)}{x-2}$$

$$\underline{\underline{f'(2) = 3}}$$

28. H f nap/ny sz 1 $\Rightarrow \lim_{x \rightarrow 1} \frac{f(x) - f(1)}{x - 1} = l$

$$h(x) = \begin{cases} f(x^2) & ; x \leq 1 \\ f(2x-1), & x > 1 \end{cases}$$

$$\lim_{x \rightarrow 1^-} \frac{h(x) - h(1)}{x - 1} = \lim_{x \rightarrow 1^-} \frac{f(x^2) - f(1)}{x - 1} \quad \begin{matrix} x^2 = t \\ x = \sqrt{t} \end{matrix}$$

$$= \lim_{t \rightarrow 1} \frac{f(t) - f(1)}{\sqrt{t} - 1} = \lim_{t \rightarrow 1} \frac{f(t) - f(1)}{t - 1} (\sqrt{t} + 1)$$

$$= l \cdot 2$$

$$\lim_{x \rightarrow 1^+} \frac{h(x) - h(1)}{x - 1} = \lim_{x \rightarrow 1^+} \frac{f(2x-1) - f(1)}{x - 1} \quad \begin{matrix} 2x-1 = t \\ 2x = t+1 \\ x = \frac{t+1}{2} \end{matrix}$$

$$= \lim_{t \rightarrow 1} \frac{f(t) - f(1)}{\frac{t+1}{2} - 1} = \lim_{t \rightarrow 1} \frac{f(t) - f(1)}{\frac{t-1}{2}} = \checkmark$$

$$= 2 \lim_{t \rightarrow 1} \frac{f(t) - f(1)}{t - 1} = 2 \cdot l$$
